ERBABRIEZTMNERFEB

@ HTEHTKF KR
[RE3%7]) (L=150m - W=4~5m)
O L5575 : Hih O MfgIC LS04 : Tih
(BRELAS)
4 REHE QRIS 3 =
(s B =)
BiHE (1.,500) A= 013 km
(i5 A=)
[BR4#RBIE - BTE]
AR (Fih - Bidth - 0~10005 ki) L= 0. 15 km
iR RTE (Fih - $ith - 0~1000E K i) L= 0. 15 knm
1 PEREAIS (F#h - #ith - 0~10008 K5 - 3 AH#R) L= 0. 15 km
uREIE (FEih - $iith - 0~1000&8 K - 3EHER - B SfEE2 Om) L= O. 15 km
RBMEFERE (Fih - Hiith - 0~10005 Kiif) L= 0. 15 km
HtWrBlE (Fith - Hiih - 0~100085 K i) L= O. 15 km
tERUAE (Fih - #iith - 0~10005 K - 3BHIR - 184 S mEKi - EE2 Om) L= O. 15 km
FRMIEHEERE (Fih - $Hith - 0~10005 FKiih) L= 0. 08 km
[BRRAIE - EE]
FUDRAIE  (Fith - $fth - 30005 LLE - OBAER - AlSMEE2 Om) L= O. 18 km




ERBRBTRIFAEFHZEH
@ BTE F 7K F KIRHR
RBMEFERIE (Fih - Fth - 30005 LLE) L= 0. 18 knm
fHEBTAISE (b - $#3th - 30008 LLE) L= 0. 18 knm
EETRE (CFih - Fith - 30008 LIE - ORRER - 184 S mKEHE - FE2 Om) L= 0. 18 km
(FAih R =)
NREQHES - TMERBRAE - NNFESEHRER A= 0. 69 ha
R A= 0. 69 ha
T HhiE R T SRR EE AL A= 0. 69 ha
ExiE A= 0. 69 ha
HRRRAEAE A= 0. 69 ha
HiEstHE A= 0. 69 ha
AR (FERE) %k (1.,500) A= 0. 69 ha
At FERER (1..500) A= 0. 69 ha
(RREETEER)
NHERAMIBREFE TS - EETERER L= 0. 18 km
NHAMSREETE - (KEE/EK L= 0. 18 km
NHAMBREERE - BEEER L= 0. 18 km
(TEEHER)
EEHE GE1EITEE) 0 %%




ERATBRI S AERMEH
& ETE K F KRR
GHEI)
(EBEERED
EEFMRED (Tih - 1~ 28 - BIFEERHERY) L= 15 kn
(32 M ERED)
TE R MR (RRBEHET) 0
B{RHERT & DA E RUE AL 0 %%
GTE
RS (P2 E+RESMAR)  FH3E 0 st
R X B R 0 st
HEBNANAL RES 25, /MR 15D 0 st
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